A SFE

10A AfHIEEEHESE 50m=10m

1548 ~ 2518~ FfER: 5% 3 F 10A B(XRE: ) BT FERME AR -Vt 5115
SiEF|STEE| 1EE 4= Bl |FF B 2 3 4 5 6 &t | X% | IBEL] &5
1| 4 | 50m P60 T & 102.1 |101.0 [101.3 [104.1 [100.8 [101.0 | 610.3 | 24 | 1
1 | 7 | s0mPeo [1e8d 99.5 [100.4 | 99.6 |101.3 | 98.5 [102.0 | 601.3 | 21| 2
1 | 9 | 50m P60 B4 B 100.0 | 95.6 | 99.6 [101.3 | 99.9 {1009 | 597.3 | 17| 3
1 | 10 | 50m P60 [BéLL & 97.8 | 98.3 | 97.4 |101.0 [101.3 | 959 | 591.7 | 17| 4
1| 17 | 50m P60 K% AL 99.0 [100.2 [102.1 | 91.1 [101.2 | 97.6 | 5912 [19] 5
1| 11 | s5om P60 |#:2 WE 97.4 | 940 | 99.1 |100.1 [100.0 [100.2 | 590.8 [ 12| 6
1 | 8 | 50mP60 |l BIE 954 | 97.4 |100.6 | 958 |98.0 | 99.1 | 586.3 | 12| 7
1 | 18 | 50m P60 |t & 97.3 | 955 | 984 | 942 [ 992 | 998 | 5844 [13] 8
1 | 15 | 50m P60 Bt 2= 89.4 (948 | 96.2 | 953 | 965 | 984 | 5706 | 9 | 9
1 | 6 |50mPeo |EE = 90.1 | 907 | 99.2 | 932 955 | 954 | 564.1 | 10| 10
1 | 5 | 50mPeo |EE 3 88.1 (759 |89.1 | 907 | 845 | 866 | 5149 | 5 | 11
1] 12| 2000 [nE mew 103.1 |102.4 [102.5 [102.6 |103.9 [103.4 | 617.9 | 33| 1
1| 13| 2008 |2# s 104.1 | 99.3 [103.2 [104.2 |103.1 [103.3 | 617.2 [ 33| 2
1| 19| 2008 |&m ms 96.9 | 97.4 | 99.1 [101.4 [100.1 [100.1 | 5950 |21 3
1| 14 | 2008 |hE a3 949 (1004 | 99.4 | 99.7 | 965 | 970 | 587.9 | 16| 4
1 | 22 |50m FPeo |1k ER% 88 | 87 | 90 | 80 | 91 | 87 | 523 | 5|

1 [1om ARS6O| AR 101.2 |104.4 [101.6 [101.0 | 99.7 | 99.7 | 607.6 | 30

7 |1om Arso|is = 99.4 | 97.4 | 956 | 965 |96.1 | 948 | 579.8 | 14

3 [10m ARS60|tEEH T 95.7 | 91.0 | 96.1 [100.2 | 90.3 | 98.6 | 5719 | 18
2 | 5 |tomarseol|=® wm 100.5 | 99.9 | 98.2 | 98.7 |100.5 [101.2 | 599.0 | 25| 1
2 | 9 [iomsrssossmss Bss 985 | 947 | 780 |100.0 | 99.1 | 952 | 5655 1
1 | 5 |10mAP6O|E T 87 |8 |84 | 95 | 85 | 87 | 526 |6 [ 1
1 | 3 |1omAPeo|aTE #k 86 | 90 | 89 | 90 | 88 | 8 | 523 |4 | 2
1| 7 |1omaAPeo|mEiR EE 78 | 83 | 89 |8 |8 |8 | 510 [4 |3
2 | 1 |10m AP0 & 86 | 85 | 83 | 85 |8 | 79 | 501 |3 | 4
1 | 9 |1omBP6O|# B4 60 | 60 | 66 | 67 | 71 | 33 | 357 1







